# Finite Hurwitz-Lerch Functions 

Necdet Batir ${ }^{\text {a }}$, Kwang-Wu Chen ${ }^{\text {b }}$<br>${ }^{a}$ Department of Mathematics, Faculty of Sciences and Arts, Nevşehir Haci Bektaş Veli University, Nevşehir, Turkey. ${ }^{b}$ Department of Mathematics, University of Taipei, No. 1, Ai-Guo West Road, Taipei 10048, Taiwan


#### Abstract

We define the finite Hurwitz-Lerch function $H_{n}^{(s)}(x, y)=\sum_{k=0}^{n-1} \frac{x^{k}}{(k+y)^{s}}$. Then we explore some properties of them and give some applications, including Coppo's formula, the sum of powers of consecutive integers, Mellin differential operator, and some others.


## 1. Introduction

For $n \in \mathbb{N}, x, y, s \in \mathbb{C}$ with $y \neq 0,-1,-2, \cdots,-(n-1)$ (when $\mathfrak{R}(s)<0, y=0$ is allowed), we define the finite Hurwitz-Lerch function as follows:

$$
H_{n}^{(s)}(x, y)=\sum_{k=0}^{n-1} \frac{x^{k}}{(k+y)^{s}}
$$

It is strongly related to the Hurwitz-Lerch zeta function $\Phi(x, s, y)$.

$$
\Phi(x, s, y)=\sum_{k=0}^{\infty} \frac{x^{k}}{(k+y)^{s}}=\lim _{n \rightarrow \infty} H_{n}^{(s)}(x, y)
$$

And the elementary translation property of $\Phi(z, s, x)$ for a fixed positive integer $m$ is

$$
\Phi(z, s, x)=z^{m} \Phi(z, s, m+x)+H_{m}^{(s)}(z, x) .
$$

The Hurwitz-Lerch zeta function $\Phi(x, s, y)$ is a generalization of the Hurwitz zeta function $\zeta(s ; x)=$ $\Phi(1, s, x)$, polylogarithm function $L i_{s}(z)=z \Phi(z, s, 1)$, and the Lipschitz-Lerch zeta function $\phi(\xi, s, x)=$ $\Phi\left(e^{2 \pi i \xi}, s, x\right)$ (see, for details, $\left.[20,22,23,29-33]\right)$. On the other hand, $H_{n}^{(s)}(1, z+1)=H_{n}^{(s)}(z)$ which is called the generalized harmonic function, and

$$
H_{n}^{(s)}(1,1)=H_{n}^{(s)}(0)=H_{n}^{(s)}=\sum_{k=1}^{n} \frac{1}{k^{s}} .
$$

[^0]The generalized harmonic functions appear often in mathematics and physics. For example, they appear in the computation of Feynman integrals in massive higher order perturbative calculations in renormalizable quantum field theories (see $[1,5,21]$ ) and in the computation of multiple zeta values or Euler sums (see $[6,15,26-28,34]$ ).

For $x, y, s \in \mathbb{C}$ with $y \neq 0,-1,-2, \cdots,-n$ (when $\mathfrak{R}(s)<0, y=0$ is allowed), let us define

$$
\begin{equation*}
S_{n}^{(s)}(x, y)=\sum_{k=0}^{n}\binom{n}{k} \frac{x^{k}}{(k+y)^{s}} \tag{1}
\end{equation*}
$$

The sequence $b_{n}$ is the binomial transform of the sequence $a_{n}$ if $b_{n}=\sum_{k=0}^{n}\binom{n}{k} a_{k}$. It satisfies the binomial inversion formula $a_{n}=\sum_{k=0}^{n}\binom{n}{k}(-1)^{n-k} b_{k}$. Moreover, if $b_{n}=\sum_{k=0}^{n}\binom{n}{k}(-1)^{k} a_{k}$, we call $b_{n}$ are the dual sequence of $a_{n}$. By Eq. (1) we know that $S_{n}^{(s)}(x, y)$ is the binomial transform of $x^{n} /(n+y)^{s}$.

In fact, $H_{n}^{(s)}(x, y)$ is the dual sequence of $-S_{n-1}^{(s)}(-x, y)$. Moreover they have the following relation:

$$
\begin{equation*}
\sum_{k=0}^{n}\binom{n}{k} \frac{(-1)^{k}}{(k+x)^{m}}=\frac{n!}{x(x+1) \cdots(x+n)} P_{m-1}\left(H_{n+1}^{(1)}(1, x), \ldots, H_{n+1}^{(m-1)}(1, x)\right) \tag{2}
\end{equation*}
$$

where $P_{m}\left(x_{1}, \ldots, x_{m}\right)$ is the modified Bell polynomial which is defined by $[7,14]$

$$
\exp \left(\sum_{k=1}^{\infty} \frac{x_{k}}{k} z^{k}\right)=\sum_{m=0}^{\infty} P_{m}\left(x_{1}, \ldots, x_{m}\right) z^{m}
$$

The above equation was first derived by Coppo in 2003 (ref. [11, Page 17]). In 2006, Coffey [10] reported this formula again. Connon [11] reviewed it in 2008 and called this formula "Coppo's Formula".

In 2008, Chu and Yan [9] proved the following formula:

$$
\begin{equation*}
\sum_{k=0}^{n}(-1)^{k}\binom{n}{k}\binom{x+k}{k}^{-1} \sum_{0 \leq j_{1} \leq j_{2} \leq \cdots \leq j_{\ell} \leq k} \prod_{r=1}^{\ell} \frac{1}{x+j_{r}}=\frac{x}{(x+n)^{\ell+1}} \tag{3}
\end{equation*}
$$

Diaz-Barrero [16] proposed the special case $(\ell, x)=(2,0)$ of this formula as a monthly problem in 2005. And then Diaz-Barrero et al [17] in 2007 proved for the special cases $\ell=3,4$ of this formula. In the next year Chu and Yan [9] gave a proof for the general case of this formula. In 2012, Chu [8, Theorem 3.1] gave another proof. However, this formula is the binomial inversion formula of Eq. (2). We will explain them in Section 3.

Another interesing thing is that the number $H_{n+1}^{(-m)}(1,0)=\sum_{j=1}^{n} j^{m}$ is the sum of powers of consecutive integers. The classical sums of powers of consecutive integers formula is usually called Bernoulli's formula:

$$
\begin{equation*}
1^{m}+2^{m}+3^{m}+\cdots+(n-1)^{m}=\frac{1}{m+1} \sum_{k=0}^{m}\binom{m+1}{k} B_{k} n^{m+1-k} \tag{4}
\end{equation*}
$$

for $m \geq 0, n \geq 1$, where $B_{n}$ is the Bernoulli number defined by $t /\left(e^{t}-1\right)=\sum_{n=0}^{\infty} B_{n} t^{n} / n!$. D'Ocagne [25] in 1887 gave another formula using Stirling numbers of the second kind:

$$
1^{m}+2^{m}+\cdots+n^{m}=\sum_{k=1}^{n} k!\binom{n+1}{k+1} S(m, k)
$$

where $S(m, k)$ is the Stirling number of the second kind defined by

$$
S(n, k)=\frac{1}{k!} \sum_{i=0}^{k}(-1)^{k-i}\binom{k}{i} i^{n} .
$$

In 2012, Boyadzhiev stated this identity again in [3]. One of the generalizations of the Stirling numbers of the second kind is defined by [4,25]:

$$
\begin{equation*}
S_{c}(\alpha, n)=\frac{1}{n!} \sum_{k=0}^{n}(-1)^{n-k}\binom{n}{k}(c+k)^{\alpha} . \tag{5}
\end{equation*}
$$

It can be seen that $S_{c}(\alpha, n)=\frac{(-1)^{n}}{n!} S_{n}^{(-\alpha)}(-1, c)$. Therefore we give a more general formula of sums of powers of consecutive integers:

$$
\sum_{j=0}^{k}(c+j)^{\alpha}=\sum_{j=0}^{k}(-1)^{j}\binom{k+1}{j+1} S_{j}^{(-\alpha)}(-1, c) .
$$

The special case $c=0$ leads to ${ }_{\mathrm{D}}$ 'Ocagne's result. We explore this formula in Section 4 and also give more applications in Mellin differential operator $\Theta_{c}=(z \cdot d / d z+c)$, and the Riemann zeta values, etc.
2. Basic properties of $H_{n}^{(s)}(x, y)$ and $S_{n}^{(s)}(x, y)$

We list some well-known basic properties of $\Phi(z, s, x)$ and $S_{n}^{(s)}(x, y)$ : If either $|z|<1$ and $\mathfrak{R}(s)>0$ or $z=1$ and $\mathfrak{R}(s)>1$ the integral representation of $\Phi(z, s, x)$ is (see [19, 30])

$$
\begin{equation*}
\Phi(z, s, x)=\frac{1}{\Gamma(s)} \int_{0}^{\infty} \frac{t^{s-1} e^{-(x-1) t}}{e^{t}-z} d t \tag{6}
\end{equation*}
$$

Connon found the integral representation of $S_{n}^{(s)}(x, y)$ as follows [12, Eq. (5)].

$$
S_{n}^{(s)}(x, y)=\frac{1}{\Gamma(s)} \int_{0}^{\infty} t^{s-1} e^{-y t}\left(1+x e^{-t}\right)^{n} d t
$$

and the ordinary generating function (ogf) [12, Eq. (13)].

$$
\begin{equation*}
\sum_{n=0}^{\infty} z^{n} S_{n}^{(s)}(x, y)=\frac{1}{1-z} \Phi\left(\frac{z x}{1-z}, s, y\right) \quad|z|<1 \tag{7}
\end{equation*}
$$

And Connon also got the following identity [12, Eq. (11)]:

$$
\sum_{n=0}^{\infty} \frac{S_{n}^{(s)}(-x, y)}{n+1}=s \Phi(x, s+1, y)-\log x \cdot \Phi(x, s, y)
$$

First, we establish the binomial transform relationship between $H_{n}^{(s)}(x, y)$ and $S_{n}^{(s)}(x, y)$.
Proposition 2.1. For $n \in \mathbb{N}$, we have

$$
\begin{align*}
& H_{n}^{(s)}(x, y)=\sum_{k=1}^{n}\binom{n}{k}(-1)^{k-1} S_{k-1}^{(s)}(-x, y), \quad \text { and }  \tag{8}\\
& S_{n-1}^{(s)}(x, y)=\sum_{k=1}^{n}\binom{n}{k}(-1)^{k-1} H_{k}^{(s)}(-x, y) \tag{9}
\end{align*}
$$

Proof. Since $S_{n}^{(s)}(x, y)$ is the dual sequence of $(-x)^{n} /(n+y)^{s}$, we have

$$
H_{n}^{(s)}(x, y)=\sum_{k=0}^{n-1} \sum_{r=0}^{k}\binom{k}{r}(-1)^{r} S_{r}^{(s)}(-x, y)=\sum_{r=0}^{n-1}(-1)^{r} S_{r}^{(s)}(-x, y) \sum_{k=r}^{n-1}\binom{k}{r} .
$$

By using the well-known identity $\sum_{k=r}^{n-1}\binom{k}{r}=\binom{n}{r+1}$, we get

$$
H_{n}^{(s)}(x, y)=\sum_{r=0}^{n-1}\binom{n}{r+1}(-1)^{r} S_{r}^{(s)}(-x, y)
$$

Eq. (9) is just the binomial inversion formula of Eq. (8).
The following identities are another forms of the above identities:
Corollary 2.2. For $n \in \mathbb{N}$, we have

$$
\frac{S_{n}^{(s)}(-x, y)}{n+1}=\sum_{k=0}^{n}\binom{n}{k} \frac{(-1)^{k} H_{k+1}^{(s)}(x, y)}{k+1}, \quad \frac{H_{n+1}^{(s)}(x, y)}{n+1}=\sum_{k=0}^{n}\binom{n}{k} \frac{(-1)^{k} S_{k}^{(s)}(-x, y)}{k+1}
$$

Using the basic integral techniques, we get the integral representation of $H_{n}^{(s)}(x, y)$ as follows.
Proposition 2.3. The integral representation of $H_{n}^{(s)}(x, y)$ is

$$
\begin{equation*}
H_{n}^{(s)}(x, y)=\frac{1}{\Gamma(s)} \int_{0}^{\infty} t^{s-1} e^{-y t} \frac{1-x^{n} e^{-n t}}{1-x e^{-t}} d t \tag{10}
\end{equation*}
$$

We give some sum formulas for $H_{n}^{(s)}(x, y)$ and $S_{n}^{(s)}(x, y)$ in the sequel.
Proposition 2.4. Let $x, y, z, s \in \mathbb{C}$ with $z \neq 1, n \in \mathbb{N}$, and $y \neq 0,-1,-2,-3, \cdots,-n$ (when $\mathfrak{R}(s)<0, y=0$ is allowed), then we have

$$
\begin{equation*}
\sum_{k=1}^{n} H_{k}^{(s)}(x, y) z^{k}=\frac{z}{1-z}\left[H_{n}^{(s)}(x z, y)-z^{n} H_{n}^{(s)}(x, y)\right] \tag{11}
\end{equation*}
$$

Proof.

$$
\begin{aligned}
\sum_{k=1}^{n} H_{k}^{(s)}(x, y) z^{k} & =\sum_{k=2}^{n}\left[H_{k-1}^{(s)}(x, y)+\frac{x^{k-1}}{(k-1+y)^{s}}\right] z^{k}+\frac{z}{y^{s}} \\
& =\sum_{k=1}^{n} H_{k}^{(s)}(x, y) z^{k+1}-H_{n}^{(s)}(x, y) z^{n+1}+\sum_{k=0}^{n-1} \frac{x^{k} z^{k+1}}{(k+y)^{s}} \\
& =z \sum_{k=1}^{n} H_{k}^{(s)}(x, y) z^{k}-H_{n}^{(s)}(x, y) z^{n+1}+z \sum_{k=0}^{n-1} \frac{(x z)^{k}}{(k+y)^{s}}
\end{aligned}
$$

For $|z|<1$, we let $n \rightarrow \infty$ in Eq. (11), we get the ordinary generating function of $H_{n}^{(s)}(x, y)$.
Proposition 2.5. For $x, y, z, s \in \mathbb{C}$ with $|z|<1$ and $y \neq 0,-1,-2,-3, \cdots$ (when $\mathfrak{R}(s)<0 y=0$ is allowed), the ordinary generating function of $H_{n}^{(s)}(x, y)$ is

$$
\sum_{n=1}^{\infty} H_{n}^{(s)}(x, y) z^{n}=\frac{z}{1-z} \Phi(z x, s, y)
$$

Let $z \rightarrow 1$ in Eq. (11) and apply L'Hospital's rule, then we get the following identitiy.

Proposition 2.6. For any $n \in \mathbb{N}$, we have

$$
\sum_{k=1}^{n} H_{k}^{(s)}(x, y)=(y+n) H_{n}^{(s)}(x, y)-H_{n}^{(s-1)}(x, y)
$$

Using $\binom{n}{k}=\binom{n-1}{k}+\binom{n-1}{k-1}$, we obtain
Lemma 2.7. For a positive integer $n$, we have

$$
S_{n}^{(s)}(x, y)=S_{n-1}^{(s)}(x, y)+x S_{n-1}^{(s)}(x, y+1)
$$

Proposition 2.8. For a positive integer $n$, we have

$$
(z-1) \sum_{k=0}^{n} S_{k}^{(s)}(x, y) z^{k}+x z \sum_{k=0}^{n-1} S_{k}^{(s)}(x, y+1) z^{k}=S_{n}^{(s)}(x, y) z^{n+1}-S_{0}^{(s)}(x, y)
$$

Proof. Using the above lemma we have

$$
\begin{aligned}
\sum_{k=0}^{n} S_{k}^{(s)}(x, y) z^{k} & =S_{0}^{(s)}(x, y)+\sum_{k=1}^{n}\left[S_{k-1}^{(s)}(x, y)+x S_{k-1}^{(s)}(x, y+1)\right] z^{k} \\
& =S_{0}^{(s)}(x, y)+\sum_{k=0}^{n-1} S_{k}^{(s)}(x, y) z^{k+1}+x \sum_{k=0}^{n-1} S_{k}^{(s)}(x, y+1) z^{k+1}
\end{aligned}
$$

Then we conclude this proposition.
Let $z=1$ in the above proposition, we have the following formula.
Corollary 2.9. For a positive integer $n$, we have

$$
x \sum_{k=0}^{n-1} S_{k}^{(s)}(x, y+1)=S_{n}^{(s)}(x, y)-S_{0}^{(s)}(x, y)
$$

## 3. Coppo's formula

Here we list some preliminaries about symmetric functions. For more details, we refer the reader to [24]. Let $h_{m}$ and $p_{m}$ be the $m$-th complete homogeneous, and power-sum symmetric polynomials, in infinitely many variables $x_{1}, x_{2}, \ldots$, respectively. They have associated generating functions

$$
\begin{aligned}
H(t) & :=\sum_{j=0}^{\infty} h_{j} t^{j}=\prod_{i=1}^{\infty} \frac{1}{1-t x_{i}} \\
P(t) & :=\sum_{j=1}^{\infty} p_{j} t^{j-1}=\sum_{i=1}^{\infty} \frac{x_{i}}{1-t x_{i}}=\frac{H^{\prime}(t)}{H(t)} .
\end{aligned}
$$

Let the modified Bell polynomials $P_{m}\left(x_{1}, x_{2}, \ldots, x_{m}\right)$ be defined by $[7,14]$

$$
\exp \left(\sum_{k=1}^{\infty} \frac{x_{k}}{k} z^{k}\right)=\sum_{m=0}^{\infty} P_{m}\left(x_{1}, x_{2}, \ldots, x_{m}\right) z^{m}
$$

The general explicit expression for $P_{m}$ is

$$
P_{m}\left(x_{1}, \ldots, x_{m}\right)=\sum_{k_{1}+2 k_{2}+\cdots+m k_{m}=m} \frac{1}{k_{1}!\cdots k_{m}!}\left(\frac{x_{1}}{1}\right)^{k_{1}} \cdots\left(\frac{x_{m}}{m}\right)^{k_{m}}
$$

It is well-known that for $j$ being a nonnegative integer,

$$
\begin{equation*}
h_{j}=P_{j}\left(p_{1}, p_{2}, \ldots, p_{j}\right) \tag{12}
\end{equation*}
$$

Let $x_{k}=(k+x)^{-1}$, for all $1 \leq k \leq n$ and $x_{k}=0$ for $k>n$. Then

$$
h_{m}=\sum_{1 \leq k_{1} \leq \cdots \leq k_{m} \leq n} \frac{1}{\left(k_{1}+x\right)\left(k_{2}+x\right) \cdots\left(k_{m}+x\right)}, \quad \text { and } \quad p_{m}=H_{n}^{(m)}(1, x+1)
$$

where we write $h_{0}=1$. Now Eq. (12) gives us the evaluations of $h_{m}$ :

$$
\begin{equation*}
\sum_{1 \leq k_{1} \leq \cdots \leq k_{m} \leq n} \frac{1}{\left(k_{1}+x\right)\left(k_{2}+x\right) \cdots\left(k_{m}+x\right)}=P_{m}\left(H_{n}^{(1)}(1, x+1), \ldots, H_{n}^{(m)}(1, x+1)\right) \tag{13}
\end{equation*}
$$

The right-hand side of Eq. (13) has a integral representation as stated in [7, 13]. Here we state it as a lemma.

Lemma 3.1. For $n \in \mathbb{N}, m \in \mathbb{N}, x \in \mathbb{R}$ with $0<1+x$, we have

$$
P_{m}\left(H_{n}^{(1)}(1, x+1), \ldots, H_{n}^{(m)}(1, x+1)\right)=\frac{1}{B(n, 1+x)} \int_{0}^{\infty} e^{-(1+x) y}\left(1-e^{-y}\right)^{n-1} \frac{y^{m}}{m!} d y
$$

where $B(x, y)$ is the Euler beta function and $P_{m}\left(x_{1}, \ldots, x_{m}\right)$ is the modified Bell polynomial.
Proposition 3.2 (Coppo's formula). For $m \in \mathbb{N}_{0}, S_{n}^{(m)}(-1, x)$ can be represented as

$$
\begin{equation*}
\sum_{k=0}^{n}\binom{n}{k} \frac{(-1)^{k}}{(x+k)^{m}}=S_{n}^{(m)}(-1, x)=B(n+1, x) P_{m-1}\left(H_{n+1}^{(1)}(1, x), \ldots, H_{n+1}^{(m-1)}(1, x)\right) \tag{14}
\end{equation*}
$$

Proof.

$$
\begin{aligned}
S_{n}^{(m)}(-1, x) & =\sum_{k=0}^{n}\binom{n}{k} \frac{(-1)^{k}}{(k+x)^{m}}=\sum_{k=0}^{n}\binom{n}{k} \frac{(-1)^{k}}{(m-1)!} \int_{0}^{\infty} e^{-(k+x) t} t^{m-1} d t \\
& =\int_{0}^{\infty} \frac{t^{m-1} e^{-x t}}{(m-1)!} \sum_{k=0}^{n}(-1)^{k}\binom{n}{k} e^{-k t} d t=\int_{0}^{\infty} e^{-x t}\left(1-e^{-t}\right)^{n} \frac{t^{m-1}}{(m-1)!} d t
\end{aligned}
$$

Using the above lemma, we complete the proof.
From Eq. (14) we know that $B(n+1, z) P_{m-1}\left(H_{n+1}^{(1)}\left(1, x, \cdots, H_{n+1}^{(-1)}(1, x)\right)\right)$ is the dual sequence of $1 /\left(x+n^{m}\right)$. Hence, the dual form of Eq. (14) is

$$
\begin{equation*}
\sum_{k=0}^{n}\binom{n}{k}(-1)^{k} B(k+1, x) P_{m-1}\left(H_{k+1}^{(1)}, \cdots, H_{k+1}^{(m-1)}(1, x)\right)=\frac{1}{(x+n)^{m}} \tag{15}
\end{equation*}
$$

Since

$$
B(k+1, x)=\frac{\Gamma(k+1) \Gamma(x)}{\Gamma(k+1+x)}=x^{-1}\binom{x+k}{k}^{-1}
$$

and by Eq. (13) we know that Eq. (15) is just Eq. (3) with $\ell+1=m$.

## 4. Sums of powers and other applications

The Mellin differential operator $\Theta_{c}$ is defined by $\Theta_{c}=(z D+c)$, where $D=d / d z$ and $c \in \mathbb{R}$. The Mellin differential operator of order $r \in \mathbb{N}$ is defined iteratively by

$$
\Theta_{c}^{1}=\Theta_{c}, \quad \Theta_{c}^{r}=\Theta\left(\Theta_{c}^{r-1}\right)
$$

For convenience we set $\Theta_{c}^{0}=I$ as the identity map.
Proposition 4.1. [4, Lemma 9] Let $A(z)=\sum_{n=0}^{\infty} a_{n} z^{n}$. Then the Mellin derivative of order $r \in \mathbb{N}$ has the representation

$$
\begin{equation*}
\sum_{n=0}^{\infty}(n+c)^{r} a_{n} z^{n}=\Theta_{c}^{r} A(z)=\sum_{k=0}^{\infty} S_{c}(r, k) z^{k} A^{(k)}(z) \tag{16}
\end{equation*}
$$

The basic examples are

$$
\Phi(z, s-1, x)=\Theta_{x} \Phi(z, s, x)
$$

and Eq. (7.46) of [18]

$$
\sum_{n=0}^{\infty} n^{r} z^{n}=\Theta_{0}^{r}\left(\frac{1}{1-z}\right)=\sum_{k=0}^{\infty} S(r, k) \frac{k!z^{k}}{(1-z)^{k+1}}
$$

Since

$$
\begin{equation*}
S_{n}^{(m)}(-1, x)=\sum_{k=0}^{n}\binom{n}{k} \frac{(-1)^{k}}{(k+x)^{m}}=n!(-1)^{n} S_{x}(-m, n) \tag{17}
\end{equation*}
$$

we expand the positive power $r$ of Eq. (16) to the negative power as follows.
Proposition 4.2. For $c>0$, we have

$$
\sum_{n=0}^{\infty} \frac{a_{n} z^{n}}{(n+c)^{m}}=\sum_{k=0}^{\infty} S_{c}(-m, k) z^{k} A^{(k)}(z)
$$

Proof. Since $A^{(k)}(z)=\sum_{n=k}^{\infty} \frac{n!}{(n-k)!} a_{n} z^{n-k}$, we have

$$
\begin{aligned}
\sum_{k=0}^{\infty} S_{c}(-m, k) z^{k} A^{(k)}(z) & =\sum_{k=0}^{\infty} S_{c}(-m, k) \sum_{n=k}^{\infty} \frac{n!}{(n-k)!} a_{n} z^{n} \\
& =\sum_{n=0}^{\infty} a_{n} z^{n} \sum_{k=0}^{n}\binom{n}{k} k!S_{c}(-m, k)
\end{aligned}
$$

The desired result is followed by the fact that the sequence $n!(-1)^{n} S_{c}(-m, n)$ is the dual sequence of $1 /(n+c)^{m}$ (See Eq. (5)). Thus we complete the proof.
As final applications we apply our results to obtain the expressions of the Dirichlet beta values $\beta(m)$, the Dirichlet eta values $\eta(m)$, and the Riemann zeta values $\zeta(m+1)$.

First we note that $H_{n}^{(s)}(1,1 / 2)=H_{n}^{(s)}(-1 / 2)=\sum_{k=1}^{n} 2^{s} /(2 k-1)^{s}=2^{s} O_{n}^{(s)}$. Therefore we calculate the values of $\beta(m)$ as follows [14, Eq. (10)]. We apply Eq. (7) and Eq. (14),

$$
\begin{aligned}
\beta(m) & =\sum_{k=0}^{\infty} \frac{(-1)^{k}}{(2 k+1)^{m}}=2^{-m} \Phi(-1, m, 1 / 2)=\sum_{n=0}^{\infty} \frac{S_{n}^{(m)}(-1,1 / 2)}{2^{m+n+1}} \\
& =\sum_{n=0}^{\infty} \frac{B(n+1,1 / 2) P_{m-1}\left(H_{n+1}^{(1)}(1,1 / 2), \ldots, H_{n+1}^{(m-1)}(1,1 / 2)\right)}{2^{n+m+1}} \\
& =\sum_{n=1}^{\infty} \frac{2^{n-1}}{n\binom{2 n}{n}} P_{m-1}\left(O_{n}^{(1)}, \ldots, O_{n}^{(m-1)}\right) .
\end{aligned}
$$

The last identity is obtained by the fact that $B(n+1,1 / 2)=\frac{2^{2 n+2}}{(n+1)\left(\frac{2 n+2}{n+1}\right)}$. Next we give the evaluation of the Dirichlet eta values $\eta(m)$ [2, Eq. (4.2)].

$$
\begin{aligned}
\eta(m) & =\sum_{k=1}^{\infty} \frac{(-1)^{k-1}}{k^{m}}=\Phi(-1, m, 1)=\sum_{n=0}^{\infty} \frac{S_{n}^{(m)}(-1,1)}{2^{n+1}} \\
& =\sum_{n=0}^{\infty} \frac{B(n+1,1) P_{m-1}\left(H_{n+1}^{(1)}, \ldots, H_{n+1}^{(m-1)}\right)}{2^{n+1}}=\sum_{n=1}^{\infty} \frac{P_{m-1}\left(H_{n}^{(1)}, \ldots, H_{n}^{(m-1)}\right)}{n \cdot 2^{n}}
\end{aligned}
$$

Since $\eta(m)=\left(1-\frac{1}{2^{m-1}}\right) \zeta(m)$, for $m \geq 1$ we have

$$
\zeta(m+1)=\frac{2^{m}}{2^{m}-1} \sum_{n=1}^{\infty} \frac{P_{m}\left(H_{n}^{(1)}, \ldots, H_{n}^{(m)}\right)}{n \cdot 2^{n}} .
$$

## Acknowledgements

The authors would like to thank the referee for some useful comments and suggestions.

## References

[1] J. Ablinger, J. Blümlein, C. Schneider, Harmonic sums and polylogarithms generated by cyclotomic polynomials, J. Math. Phys., 52, 102301 (2011); doi: 10.1063/1.3629472.
[2] N. Batir, On some combinatorial identities and harmonic sums, Int. J. Number Theory, 13 (7) (2017), 1695-1709. DOI: 10.1142/S179304211750097X.
[3] K. N. Boyadzhiev, Close encounters with the Stirling numbers of the second kind, Math. Magazine, 85 (2012), 252-266.
[4] P. L. Butzer, S. Jansche, A direct approach to the Mellin transform, J. Fourier Anal. Appl., 3 (4) (1997), 325-376.
[5] J. Blümlein, S. Kurth, Harmonic sums and Mellin transforms up to two-loop order, Phys. Rev. D, 60, 014018 (1999).
[6] K.-W. Chen, Generalized harmonic numbers and Euler sums, Int. J. Number Theory, 13 (2) (2017), 513-528. DOI:10.1142/S1793042116500883.
[7] K.-W. Chen, Generalized Arakawa-Kaneko zeta functions, arXiv:1707.06771 [math.NT], (2017), 20 pp.
[8] W. Chu, Summation formulae involving harmonic numbers, Filomat, 26 (1) (2012), 143-152. DOI: 10.2298/FIL1201143C.
[9] W. Chu, Q. L. Yan, Combinatorial identities on binomial coefficients and harmonic numbers, Util. Math., 75 (2008), 51-66.
[10] M. W. Coffey, A set of identities for a class of alternating binomial sums arising in computing applications, Util. Math., 76(2008), 79-90.
[11] D. F. Connon, Euler-Hurwitz series and non-linear Euler sums, arXiv: 0803.1304 [math.CA], (2008), 51 pp.
[12] D. F. Connon, Some infinite series involving the Riemann zeta function, Int. J. Math. Comput. Sci., 7 (1) (2012), 11-83.
[13] M.-A. Coppo, Nouvelles expressions des formules de Hasse et de Hermite pour la fonction Zêta d'Hurwitz, Expo. Math., 27 (2009), 79-86.
[14] M.-A. Coppo, B. Candelpergher, Inverse binomial series and values of Arakawa-Kaneko zeta functions, J. Number Theory, 150 (2015), 98-119.
[15] G. Dattoli, H. M. Srivastava, A note on harmonic numbers, umbral calculus and generating functions, Appl. Math. Lett., 21 (2008), 686-693.
[16] J. L. Díaz-Barrero, Problem 11164, Amer. Math. Monthly, 112 (6) (2005), 568-568. doi:10.2307/30037532
[17] J. L. Díaz-Barrero, J. Gibergans-Báguena, P. G. Popescu, Some identities involving rational sums, Appl. Anal. Discr. Math., 1 (2007), 397-402.
[18] R. L. Graham, D. E. Knuth, O. Patashnik, Concrete Mathematics, 2nd edition, Addison-Wesley, 1994.
[19] J. Guillera, J. Sondow, Double integrals and infinite products for some classical constants via analytic continuations of Lerch's transcendent, Ramanujan J., 16 (3) (2008), 247-270. DOI: 10.1007/s11139-007-9102-0.
[20] P. L. Gupta, R. C. Gupta, S.-H. Ong, H. M. Srivastava, A class of Hurwitz-Lerch Zeta distributions and their applications in reliability. Appl. Math. Comput., 196 (2008), 521-531.
[21] M. Y. Kalmykov, B. F. L. Ward, S. A. Yost, Multiple (inverse) binomial sums of arbitrary weight and depth and the all-order $\varepsilon$-expansion of generalized hypergeometric functions with one half-integer value of parameter, J. High Energy Phys., 10 (2007) 048.
[22] S.-D. Lin, H. M. Srivastava, Some families of the Hurwitz-Lerch zeta functions and associated fractional derivative and other integral representations, Appl. Math. Comput., 154 (2004), 725-733.
[23] S.-D. Lin, H. M. Srivastava, P.-Y. Wang, Some expansion formula for a class of generalized Hurwitz-Lerch zeta functions, Integral Transforms Spec. Funct., 17 (2006), 817-827.
[24] I. G. MacDonald, Symmetric Functions and Hall Polynomials, 2nd edition, Claredon Press, 1995.
[25] M. d'Ocagne, Sur une classe de numbres remarquables, Amer. J. Math., 9 (1887), 353-380.
[26] T. M. Rassias, H. M. Srivastava, Some classes of infinite series associated with the Riemann zeta and polygamma functions and generalized harmonic numbers. Appl. Math. Comput., 131 (2002), 593-605.
[27] A. Sofo, H. M. Srivastava, Identities for the harmonic numbers and binomial coefficients, Ramanujan J., 25 (2011), 93-113.
[28] A. Sofo, H. M. Srivastava, A family of shifted harmonic sums, Ramanujan J., 37 (2015), 89-108.
[29] H. M. Srivastava, A new family of the $\lambda$-Generalized Hurwitz-Lerch zeta functions with applications, Appl. Math. Inf. Sci., 8 (2014), 1485-1500.
[30] H. M. Srivastava, J. Choi, Series Associated with the Zeta and Related Functions, Kluwer Academic Publishers, Dordrecht, 2001.
[31] H. M. Srivastava, S. Gaboury, B.-J. Fugère, Further results involving a class of generalized Hurwitz-Lerch zeta functions, Russian J. Math. Phys., 21 (2014), 521-537.
[32] H. M. Srivastava, R. K. Saxena, T. K. Pogány, R. Saxena, Integral and computational representations of the extended HurwitzLerch zeta function, Integral Transforms Spec. Funct., 22 (2011), 487-506.
[33] , H. M. Srivastava, Z̃. Tomovski, D. Leškovski, Some families of Mathieu type series and Hurwitz-Lerch zeta functions and associated probability distributions, Appl. Comput. Math., 14 (2015), 349-380.
[34] T.-C. Wu, S.-T. Tu, H. M. Srivastava, Some combinatorial series identities associated with the digamma function and harmonic numbers, Appl. Math. Lett., 13 (2000), 101-106.


[^0]:    2010 Mathematics Subject Classification. Primary 11M35, 11B73, 05A10; Secondary 44A15, 47E05.
    Keywords. Finit Hurwitz-Lerch functions, generalized harmonic function, Hurwitz-Lerch zeta function, modified Bell polynomials, Stirling numbers, Mellin differential operator.

    Received: 22 November 2017; Revised: 06 July 2018; Accepted: 08 August 2018
    Communicated by Hari M. Srivastava
    Corresponding author: Kwang-Wu Chen
    Chen was funded by the Ministry of Science and Technology, Taiwan, Republic of China, through grant MOST 106-2115-M-845-001.

    Email addresses: nbatir@nevsehir.edu.tr (Necdet Batir), kwchen@uTaipei.edu.tw (Kwang-Wu Chen)

